
C803 EP CCCCaaaapppprrrriiiiccccoooorrrrnnnn    RRRRCCCC- EP 6S Conversion -
        Code Cap 2346-K

Made in Italy

01

15

16 5

17

4

2

7

6

108

11 9 13

14
18

19

12

1

3

Cap 2345

Cap 2333

Cap 2073-V2

Cap17006

Cap 2184

Cap 2329

Cap17026

Cap14040
Cap17027

Cap 2146

Cap 2170

Cap17029

Cap 2169

Cap 2006

Cap 2051B-57

Cap 2134

Cap 2322

Cap17040
Cap 2183

M3 Nut

M3x3

M3x12

M3x10

M4x8

M3x6

2,5x11,8 Pin

http://capricornrc.com/capricorn/it/ricambi-lab-e803-mono-2-speed/3648-lab082-ep-supporto-motore.html
http://capricornrc.com/capricorn/it/viteria-lab-c03/2602-dado-m3-abl-10-pz.html
http://capricornrc.com/capricorn/it/lab-e801-18-ep-car/2536-piastrina-tenditore-lab-e801.html
http://capricornrc.com/capricorn/it/ricambi-lab-e803-mono-2-speed/4100-estensione-esc-c803-ep.html
http://capricornrc.com/capricorn/it/ricambi-lab-c803/4028-montante-centrale-v2-803-ep-base.html
http://capricornrc.com/capricorn/it/lab-e801-18-ep-car/2537-spina-speciale-lab-e801-2pz-.html
http://capricornrc.com/capricorn/it/ricambi-lab-e803-mono-2-speed/4098-telaio-carbonio-6s-c803-ep.html
http://capricornrc.com/capricorn/it/018-viteria/1528-vite-m3x12-ts-10pc.html
http://capricornrc.com/capricorn/it/ricambi-lab-c803/1111-supporto-ricevente.html
http://capricornrc.com/capricorn/it/018-viteria/2603-vite-m3x10-svasata-10-pz.html
http://capricornrc.com/capricorn/it/018-viteria/1514-vitaem4x8-sv-10pz.html
http://capricornrc.com/capricorn/it/lab-e801-18-ep-car/2538-albero-cambio-lab-e801.html
http://capricornrc.com/capricorn/it/018-viteria/1529-vite-m3x6-sv-10pz.html
http://capricornrc.com/capricorn/it/lab-e801-18-ep-car/2540-flangia-monomarcia-lab-e801.html
http://capricornrc.com/capricorn/it/anelli-elastici/1382-benzing-albero-8-10-pezzi-.html
http://capricornrc.com/capricorn/it/ricambi-lab-c803/1729-corona-2-marcia-z58.html
http://capricornrc.com/capricorn/it/viteria-lab-c02/2855-spina-255x118-10pz.html
http://capricornrc.com/capricorn/it/ricambi-lab-c803/4110-piastra-radio-6s-c803-ep-base.html
http://capricornrc.com/capricorn/it/ricambi-lab-c803/4109-conversion-kit-c803-ep-6s.html
http://capricornrc.com/capricorn/it/viteria-lab-c03/1519-grano-m3x3-10pz.html



